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=Q62� GLUHFWO\ �WKH ,5 VSHFWUD LV FRQVLVWHQW ZLWK WKH EDQG VSHFWUD RI =Q62� LQ
6DGWOHU 6WDQGDUG��

�� 7KH ,5 VSHFWUD RI WKH ILQDO SURGXFWV DUH FRQVLVWHQW ZLWK WKRVH RI =Q2 LQ 6DGWOHU
6WDQGDUG� ,W LQGLFDWHV WKDW WKH ILQDO SURGXFWV DUH DOO =Q2�

,Q RUGHU WR SURYH WKH VWHSV RI GHFRPSRVLWLRQ H[LVWLQJ� WKH FKHPLFDO FRPSRVLWLRQ
RI WKH LQWHUPHGLDWHV DQG ILQDO SURGXFWV ZHUH DQDO\VHG� 7KH DQDO\WLFDO UHVXOWV IRU WKH
LQWHUPHGLDWHV DQG WKH ILQDO SURGXFWV DOVR VKRZ WKH WKHUPDO GHFRPSRVLWLRQ PHFKD�
QLVPV VKRZQ LQ 7DEOH � H[LVW�


 
 


:H WKDQN WKH 1DWLRQDO 6FLHQFH )RXQGDWLRQ RI &KLQD DQG (GXFDWLRQ &RPPLWWHH RI 6KDDQ[L

3URYLQFH IRU ILQDQFLDO VXSSRUW�

5HIHUHQFHV

� 0� 0� $EGHO�0RQHP� 6W� 3DXO DQG 0LQQ� 8� 6� 3DW�� 86 � ��� ���� �����������
� 6� 7DJXFKL� 0� ,QRNXFKL� 1� 1DNDMLPD� 0� ,QRPDWD DQG <� 1DLWRK� :2 3DWHQW� :R �� ����
�����������

� 7� .HQWDUR� -� 3KDUP� %XOO�� �� ������ ��� �-DSDQHVH��
� +� $� +DUYH\� 8� 6� 3DW�� 86 � ��� ���� �����������
� 9� 6XVKDPD� .DPDOXGGLQ DQG 1� 0DWUK� %XOO� &KHP� 6RF�� �� ������ ���� �-DSDQHVH��
� &� $� 0FDQ /LII� -� 9� 4XDJOLQDR DQG 0� 9OLDULQRO� ,QRUJ� &KHP�� � ������ �����
� 6� $� %HVW� 3� %UDQW DQG 5� '� )HWKDP� ,QRUJ� &KHP�� �� ������ �����
� +� $� +DUYH\� 8�6� 3DW�� 86 � ��� ���� �����������
� *� 6KHQJOL� /� -LDQUXL� -� 0LDQ� <� ;XZX� =� )HQJ[LQJ DQG /� =KRQJMLQ� &KLQHVH 6FL� %XOO��
�� ������ ���� �(QJOLVK��

��� /,8 HW DO�� &203/(;(6 2) =,1& $0,12 $&,'6

-� 7KHUP� $QDO� &DO�� ��� ����


